CS351/Sec. 3

Quiz No. 4

Nov. 30, 2005

Consider a student file with the following attributes: StNo, Major, Status, DOB.

n= 20,000 (no. of records).

Selectivities of the Major and Status attributes are given as follows.

Major

Selectivity

Status

Selectivity
CS

0.20


Prob

0.15

Music

0.30


Satis.

0.50

Business
0.15


Honor

0.20

Other

0.35


H. Honor
0.15

Assume that the values of the attributes are independent of each other.  (Note: selectivity means the probability of observing a certain attribute value for a randomly chosen record.)

Estimate the number of students that will satisfy the following queries.

Display DOB where

a. Major != “CS” or Status != “Prob”

b. Major != “Music” and Status = “H. Honor”

c. Major = “CS” or Status = “H. Honor”

Answers

Remember the following rules for two independent events A and B: 

P(A and B)= P(A) x P(B)

P(A or B)= P(A) + P(B) – P(A) x P(B)

a. (0.80 + 0.85) – 0.80 x 0.85= 0.97  ( 0.97 x 20,000= 19,400

b. 0.70 x 0.15= 0.105 ( 0.105 x 20,000= 2,100

c. (0.20 + 0.15) – 0.20 x 0.15= 0.32 ( 0.32 x 20,000= 6,400

